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Vertical Division

Name:

Solve each problem.

1)

80(/800

4)

70[210

7)

40[239

10)

80126

2)

40[356

5)

60(576

8)

20(763

11)

10530

3)

30[521

6)

30[510

9)

60[420

12)

70[146

10.

11

12.

Answers
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Vertical Division

Name:

Answer Key

Solve each problem.

b 10
80[800
0
80
80
00

10) 1146

80[126

0

12
0

126
80
46

2) 8136

40[356
0
35
0
356
320
36

5) 9r36

60(576

0
57
0
576
540
36

8) 38r3

20(763

0
76
60
163
160

3
11) 53

10530
0
53
50
30

30
0

3) 17r11

30[521

0
52
30
221
210
11

6) 17

30[510

0
51
30
210
210

0
9) 7

60[420

0
42
0
420
420
)

12 216

70[146

0
14
0
146
140
6

Answers
1 10
2, 8136
3, 17r11
4 3
5. 9r36
6 17
7. 5r39
8. 3813
9 7
10. 1r46
11. 93
12. 216
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# Vertical Division Name:

Solve each problem. Answers
5r39 17 rl11 17
9 r36 8 r36 10 1.
7 38 r3 3
2.
1) 2) 3)

80[800 40[356 30[521 3

4) 5) 6)

70210 60576 30[510 0.

7) 8) 9)

40[239 20(763 60[420
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